习题课第4次作业主要错误点

Question 1
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issues：
in the b question, few students considered the derivative of f(x) is discontinuous, so, they believed f(x) is discontinuous when x=0.
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Answer:
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Question 2
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issues：
[bookmark: _GoBack]unfortunately for the unwary, many students forgot to state the domain of each function and derivative.
Answer:
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(a) f/(z) =1— ﬁ The domain of f is [0,00) and the domain of f is (0, o).
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(b) Worked Solution: The domain of g is (—o0, 0]. The derivative of g is:
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It exists for < 0 and x # 0, so the domain of ¢’ is (—o0,0).
c) The derivative f’ is given by f'(z) = i The domain of f and f’ are both
(2 + 3z)?
T

equal to {z | z # Z£}.
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39. At which numbers is f discontinuous? At which of these is f continuous from the right
or left or neither?
sin(l/z) if 2 <0 sinz  ifx<0
(a) f(x)=4 0 ifo<a<l () fx)={ 0 ifogr<1
22 -1 ifl<az 22-1 ifl<xe
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(b) No discontinuities.
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48.  Find the derivative of the function using the definition of derivative. State the domain
of each function and the domain of the derivative.

(a) flx) =z — (b) g(z) = V=r





